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B. SC. GENERAL (WITH ZOOLOGY) 

(BSCG) 

Term-End Examination 

June, 2022 

BZYET-143 : INSECT VECTORS AND VECTOR- 

BORNE DISEASES 

Time : 2 Hours     Maximum Marks : 50 

Note : (i) Question no. 1 is compulsory.  

 (ii) Do any four questions out of questions  

2 to 7. 

1. (i) Match the items given in Column A with 

that of Column B : 5×1=5 

Column A Column B 

(I) Butterfly (A) Dengue 

(II) Aedes (B) Siphoning mouth- 

parts 

(III) Fleas (C) Mechanical vector 

(IV) Housefly (D) Siphonaptera 

(V) Silverfish  (E) Apterygota 
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(ii) State one function of each of the following : 

5×1=5 

(a) Halteres 

(b) Compound eye 

(c) Cuticle 

(d) Antenna 

(e) Haemolymph 

2. Differentiate between the following pairs of 

terms :   4×2 =10 

(i) Holometabolous and Hemimetabolous 

insects 

(ii) Transient and asymptomatic carriers  

(iii) External morphology of head and body 

louse 

(iv) Egg of Anopheles and Culex 

3. Write short notes on any two of the following : 

2×5=10 

(i) Sandfly-borne diseases 

(ii) Prevention and control of mosquitoes  

(iii) Life cycle of housefly 
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4. What is Integrated Vector Management (IVM) ? 

Explain the different control strategies involved 

in IVM.   10 

5. (i) Discuss various modes of transmission of 

pathogens by the biological vectors.  5 

(ii) Explain morphological characters of any 

two medically important insect orders.  5 

6. (i) Describe the identifying features of the 

bedbug.  5 

(ii) Explain the feeding, biting preference and 

ovipositioning behaviour of adult 

Anopheles mosquitoes. 5  

7. Why insects are so successful in this planet ? 

Explain with reference to : 10 

(a) Structural perfections  

(b) Developmental characteristics  

(c) Specificity of feeding 
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(ii)

5×1=5 

4×2 =10 

(i)

(ii)

(iii)

(iv)

2×5=10 

(i) (sandfly)
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(ii)

(iii)

(IVM) IVM

10 

(i)

(ii)

(i)

(ii)
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(i)
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